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QUESTION 1

Which two Natural Language Processing artifacts are part of the Watson Knowledge Studio? 

A. parsing rules 

B. mention detection 

C. relation detection 

D. part-of-speech tagging 

E. sentence tokenization 

Correct Answer: CE 

 

QUESTION 2

What is the formula for recall in a classification system? 

A. False Positives / (True Negatives + False Negatives) 

B. True Positives / (True Positives + True Negatives) 

C. True Positives / (True Positives + False Positives) 

D. True Positives / (True Positives + False Negatives) 

Correct Answer: C 

Reference: https://towardsdatascience.com/accuracy-precision-recall-or-f1-331fb37c5cb9 

 

QUESTION 3

When is it appropriate to include multiple classes for a sample text in the training data for IBM Watson Natural
Language Classifier? 

A. When the text is very detailed such that identifying a single class may cause inaccuracies. 

B. When the classifier has been retained and we want to preserve old classes from a previous training set. 

C. When experts interpret the same text in different ways, multiple classes support those interpretations. 

D. When the text utterances are very similar in nature and we want to mark slight differences using classes. 

Correct Answer: C 

 

QUESTION 4
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An AI FAQ widget on a company\\'s support portal allows users to ask questions related to the company and its
products. 

Why is it important to analyze the user\\'s input for entities? 

A. Specific content such as the location (Colorado) could be used to further inform the program. 

B. There must be an intent for each and every entity detected by the program. 

C. The number of entities found in the utterance could improve the accuracy of the answer. 

D. They could indicate variations in the flow of the dialog node. 

Correct Answer: A 

 

QUESTION 5

What are the input and output data types of the IBM Watson Tone Analyzer service? 

A. Input of XML or plain text and output in JSON 

B. Input of JSON or plain text and output in XML 

C. Only plain text is supported for both input and output 

D. Input of JSON or plain text and output in JSON 

Correct Answer: B 

Reference: https://console.bluemix.net/docs/services/tone-analyzer/index.html#about 
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